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SCHOLARS ACADEMY

1.

a)
c)

a)
c)

a)

c)

[ REASONING ]

T & faud Jgg &1 99 i

([re : F=meff $1 3P g il d fJuoa g
o, qof semait wr ferard & st =nfee SereRorn
¥ fw 16 - 16 W HFAC SF 16 B
SYSI1/9eT1/A0N ST 3Nfe fovan <1 war 81 16 B
1 3R 6 # AT 3R fBY 1 3R 6 W Y Sfehame
B P gufa TR )

Select the odd group of numbers.

(NOTE: Operations should be performed on the
whole numbers, without breaking down the
numbers into its constituent digits. E.g. 16 -
Operations on 16 such as
adding/deleting/multiplying etc. to 16 can be
performed. Breaking down 16 into 1 and 6 and then
performing mathematical operations on 1 and 6 is
not allowed.)
(19 -23-32)
(7-11-13)

faorg oA WX & Fratay oaT § SR W BT SR 5
km TqdT €, fhY a8 7d @Y 3R g8ar1 & 3R 9 km
Todr ¢ 3R PR a8 a€ Ge&T 12 km T 3 3R
HfER W ¥ o1a1 21 f6R 92 ufde 1 ok gear g ok
PTAT Tg_ P 1T 4 km Iaar g1 AR & Tweof &
foera &1 = fow e & Rua &2

Vijay goes to office from his home and walks for
5km north, then he turns east and walks for 9km
and then he turns right and walks for 12km and
stops at Temple. Then he turns west and walks for
4km to reach office. What is the direction of Vijay's
home with respect to temple?

JR-UEH North-west b) JTWR-Yd North-east
GRI-UfdT South-west  d)  &f&OT-gd South-east

& 7€ G TEmal (it B AEY) B U H gEe W
ﬁug?@aﬁﬁaﬁqmmﬂwwm
44 48

By interchanging the given two numbers (not
digits), which of the following equation will be
correct?

44 and 48

1.27 X8 - 48 + 384 +~ 44 = 180

.11 +44 -+ 8-48X 13 =12

b) 3-5-7)
d) (11-13-17)

%ad |l Only Il b) a1 3R T8Il Neither |
nor Il

Had | Only | d) 1 3R 11 3HBoth | and II

I faped &1 999 9 o) Ulad &R & 9Yg I It

THR Hafid § oy ToR gy ek IUg Usd iR
e A Yafta 8 3R FT 3H&R g TR &R TYE
d Haftra 81

Select the option that is related to the fifth-letter
cluster in the same way as the second letter cluster
is related to the first letter cluster and the fourth
letter cluster is related to the third letter cluster.

a)

c)

a)
c)

a)
c)

a)

16:57:27:101::21:
77 b) 90
46 d) 79

B S99 B1, B2, B3, B4, B5 3R B6 $I Td & HUX
TS WP & FU | 3@ T[T 71 B5 9199 & =Id gt ared
TW 7T §| B2 I died B1 SI6d & 31 A 3@ 141
81 B4 Tidde 99 $I B2 999 & -1 3R B3 arqd
F U @ 741 | B3 SiaH 3R B6 Siad & o A &I
gﬁm?@m{?l B6 STeRT & W e e 3@ T
?

Six boxes- B1, B2, B3, B4, B5 and B6 are stacked one
above another. Two boxes are kept below B5 box.
B2 box is kept immediately below B1 box. B4
chocolate box is kept below B2 box and above B3
box. Two boxes are kept in between B3 box and B6
box. How many boxes are kept above box B6 box?

1 b) 2
3 d) 4

% URaR # ©¢ G 21 AR, firer Y sedidt 989
? 3R firwr, 1 &1 41 B ofiq, Brwr &1 weR-37-9 21
fopan, Sfiq Ft 78 21 8, fpar &1 wR 81 ARt 8k
fop &1 Saa U welex ol e, st g

There are six members in a family. Theera is the
only sister of Prish who is the son of Rima. Jitu is
the brother-in-law of Prish. Kriya is the sister of Jitu.
Hari is the father-in-law of Kriya. Theera and Kriya
have only one sibling. Kriya is the ____ of Prish.

Tadl Wife b) EIEl/AMT Grandmother
HIdT Mother d) I Mother-in-law

o T HyAl iR sl #) wFyde Ul a8 wea
B¢ % Al § & 7 IFeR 99 §, Wa & a8
W FU | {9 a A g wdita g &), Fuifa
N ¥ iy 7 et § & o a1 $YA o1 aifde
FY F TR HAT B

DY :

it calamity, tragedy %

PO disaster, tragedy %

e %

I: PO calamity, disaster

1l: aﬁ‘é calamity, disaster Hﬁ%

Read the given statements and conclusions
carefully. Assuming the information given in the
statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statements.

Statements:

All calamity is tragedy

Some disaster is tragedy

Conclusions:

I: Some calamity is disaster

Il: No calamity is disaster.

gt s | SR 1 b) Paa Ay | RO
SR FRd & Both W%Only conclusion |
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SCHOLARS ACADEMY

c)

a)
c)

a)
c)

10.

a)
c)

11.

a)
c)

12.

conclusions | and Il follow follows

7 d s | a7 11 SRR d) A o ey | iR A
AT § Either conclusion | STIERUT Dl 8 Neither
or |l follows conclusion | nor Il follows

% fAf3a ®is U9 ¥ 'WHEAT' #1 '25107322' & &4
o for@aT ST 8, 'MAIZE' H1 '15311287' & =0 ¥ foran
WAt 8, A [H YT § 'FLOOR' &1 fhy w R feram
SITET?

In a certain code language, 'WHEAT' is written as
'25107322', 'MAIZE' is written as '15311287'. How
will ‘FLOUR' be written in that language?

201782314 b) 172320148
814172320 d) 232081417
ue fAf¥d $Is HIST A 'BUTTRESS' &1 'TTUBRSSE' &

U # @ WIem g, "'OMISSION' 3T 'SIMOSNOI' &
U ¥ foran orar 8, & FHE YT | 'ADMITTED' &1
P yeR fRrar smewm?

In a certain code language, 'BUTTRESS' is written as
"TTUBRSSE’, 'OMISSION' is written as ‘SIMOSNOI'.
How will 'ADMITTED' be written in that language?

IMDADETT b) IMDATDET
DETTIMDA d) DAIMTTDE

firr = oA 9¢ & uigen &1 uRwg dd gT FE,
"I9P! 89 $ fUar A A7 & uig €1 a8 wigan
fira @ fr R wefa @2

Introducing the lady to her son, Priya said, "Her
sister's father is the brother of my mother.” How is
lady related to the Priya?

dg Sister b) HfSH Cousin
HIdT Mother d) 3t Aunt
T U & IR 3fe-3rerT Ry gefg me &1 o &

BT BB A I AP BaAP W 3HERI B, J, 0, P, Q 3R
s ® ¥ T® oeR ®! fufga fear mar §1 39 sieR &1
T BT &1 &R ')’ I BaP & [T BaP W
Hul

Four different positions of the same dice are shown,
the six faces of which have alphabets B, J, O, P, Q, S.
Select the alphabet that will be on the face opposite
to the one having the alphabet 'J'.

EREE

b) Q
S d) O
TR forgl & 98} | &1 9a_ B3 o BiHe U

¥ + Rl 1 yfownifia &R a@d § SR Ry 7w
BT H1 Agferd I TP 81

Select the correct combination of mathematical
signs that can sequentially replace the * signs and
balance the given equation.

100 * 5 * 90 * 3 * 40 * 250

a)

c)

14.

a)

c)

15.

a)
c)

16.

a)

c)

17.

a)

==X, + = b) + +X,- =
d) +-,+X,=

fFrafafaa g & S1-31 ser-agg vy g () 31
I WM?

Which letter-cluster will replace the question mark
(?) in the following series?

PIN, QKS, RMX, SOC, TQH, ?

URK b) USM

VSK d) VRN

I ATHTA &1 997 B o Fufafea snefa @ &
T et

Select the figure that will come next in the
following figure series.

o

S $s $ $s ?
o

(A) (B) (C) (D) (E)

$s $s s s
[m] m]

Iy (1) (1) (1V)
| b) I
i dy Iv

I APpfa U P st §f 1 npfa F gdr
wfafer & wexr &t

Choose a figure which would resemble a mirror
image of the given figure.

| by I
[ d) Iv

TS Af3d Fifed YT & MAN - 56 3R MATERIAL -
158, @Y SPEECHLESS T 1S &1 8?
In a certain coded language, MAN - 56 and

MATERIAL - 158, then what is the code for
SPEECHLESS?

202 b) 222

188 d) 194

fiu U fawedl § ¥ I9 W@ T 999 FioC i
Fafafea s@ar § vy [ ) @ gforifta &=
HHdl g1

Select the number from among the given options
that can replace the question mark(?) in the
following series.

784, 726, 738, 680, 692, 634, ?

646 b) 576
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SCHOLARS ACADEMY

c) 588

18. 39 fIwew &1 7o HIRA Rl g TaM ey
gmm%%'a‘rﬁnwmﬁ%wmw%&w
|
Select the option in which the words share the same
relationship as that shared by the given pair of
words.
Persevere: Idle :: Relish : ?

d) 634

a) Favour b) Fancy

c) Disgust

19. T & g enpfa & Hryeil &Y $a d=n g1a s
Find the total number of triangles in the figure
given below.

d) Appreciate

b) 17
d) 20

a) 14
c) 18

20. Afdw, AT & uf3 & 25 m 3t gl R @1 81 A4,
A1t & gferor & 15 m @1 gt R Wer 81 fiewd, e
& qd ¥ 8 m B gt W WeT 71 Py, afdw & gféor A
30 m ¥t g8t W @1 3| 9, Fresd & gféror-ufdmg &
17 m & gt W @1 31 Fafafe § @ sF-ar sy
T
Levis stands 25m to the west of Mario. Nick stands
15m to the south of Mario. Gilbert stands 8m to the
east of Nick. Keith stands 30m to the south of Levis.
Brian stands 17m to the southwest of Gilbert. Which
among the following statement is true?

a) % 3R I & 99 &1 b) TOA, AP F IW BT 3R

@ 15 m g1 The distance RES 81 Brian stands
between Nick and Brian is towards the north of
15m. Nick.

c) BN, §F & Yd Bt 3R d) AT All of these
gl %I Keith stands

towards the east of Brian.

21. Jemsl ¥ I HaeH T 999 B o § 18
=N e & ad wHEl § $i® 9 9 @9 W
o g3t g St
Select the combination of numbers that when
sequentially placed in the blanks of the given
number series will complete the series.

4 9. 46_4_69_46_4
a) 649449 b) 646444
c) 946449 d) 649946

22. 39 Apfd &1 wud Five ol & w8 emefa
el?rﬁﬂ%?r%l (3rad B Aty T ?)
Select the figure in which the given figure is
embedded. (Rotation is not allowed)

a)

c)

23.

a)
<)

24.

a)

c)

25.

—

h @3 g50 | |E=h
| B | |1
(a) (b) (c) (d)

a b) b
C d) d

frufifed ar udi # @ @i fef 7 i ver A &
W9 § SafP U@ e 81 3rvTd 31 994 Siferg |
Three of the following four terms are alike in some
way while one is different. Choose the odd one out.
EO b) LZ

HX d) AC

Frafafla 37 o, 3rerT-3renT RIS A Waw g
| Afeqal st HEm H euiar 71 fea e
APIBFT & Wad gu & afe= = a1 o= ok 7 &
IRGHAT | AP §UB?

The following Venn diagram represents people who
are graduates in different fields. How many people
are graduates in engineering but in neither science
nor architecture ?

Science,
31

Architecture

Engineering
68 b) 65
62 d) 67

T 9y # A9 SYAT BT A I gC &
T g1 3MUe! T Y $YT S Id AT
, Hﬂﬁﬁﬁlﬁﬁﬁﬁuﬁﬁﬁﬁﬁlﬁﬁlﬁ

aﬁuﬁqsﬁ?ﬁﬁmaﬁﬁq%mwﬁwﬁﬁﬁ

/3 frepd 9= U A J1d ) B sagadr

m?r gU feu U Tyl &1 aifbe TU & SRl

FHAl/H /8|

HYT:

ﬂ"ﬂ%sheep, blackﬂﬁ%l

ﬂ"ﬂ%shlp, sheepﬂﬁ%

It hairs, black ?I
e

I. 99 ship, hairs %I

1l aﬁ‘é hair, sheepﬁ%l

In the question given below, three statements are
given followed by two conclusions. You have to
take the given statements to be true even if they
seem to be at variance from commonly known facts.
Read the conclusions and decide which of the given
conclusions logically follows from the given
statements disregarding the commonly known
facts.
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SCHOLARS ACADEMY

a)

26.

a)

c)

27.

a)

28.

a)

29.

Statements:

No sheep is black

No ship is sheep

All hairs are black

Conclusions:

I. Some ship are hairs

Il. No hair is sheep

FAA | ATERYT HRAT § b) | 3R I ST TR0 IR
Only | follows  Both | and Il follow
FHad || IR FRT § d) Pis Y SR TG FHRal

Only 1l follows None follows

[ GENERAL AWARENESS ]

1991 ® anfde Hifadt & IeHUT F 916 YR |
Prafifle § S | gen/A g1 82
%Wuﬁmﬁrﬁﬁaﬁ%@wffmﬁﬁﬁ

|
1. fay smuR & uRa & fFafa F A A fS g3 21
111 FDI 3idais ¥ 33 g3 7
IV. HRd & fae=ht gat smfara fAf & urdt 3i3 g1
4R T T Fis T T R F§ W P TGT
Biforg|
Which of the following has/have occurred in India
after its liberalization of economic policies in 1991?
I. Share of agriculture in GDP increased enormously.
II. Share of India's exports in world trade increased.
111. FDI inflows increased.
IV. India's foreign exchange reserves increased
enormously.
Select the correct answer using the codes given
below.

FHId | 3R IV | and IV b) Had Il 3R 11l Il and Il
only only

LI, SRV L 0L NI and d) ad I, 1SR IV 11, 111 and
v IV only

1996 ¥ YRd & ygell Afgan IAaR d9ar aed 3R
gl AiRdr URdE AR Wil S, ©f wfe
TRITYS B 82

Who is India’s first female professional Tabla player
and the founder of the first ever all-female Indian
Classical music band, Stree Shakti in 1996?

e Rrar Rimpa Siva b) Hﬁ?ﬂ?ﬁ Mukta Raste

gaHl  qdddDl  Savani d) S{IRTYT UTST Anuradha Pal
Talwalka

JE_ PTUH @RR gl
Ugadi is a festival of
GIENE! g Tamil Nadu b) P Kerala
d) HERIY Maharashtra

PHicdh Karnataka

fFafafaa ¥ S o9 @ o o1 sifag um g sk a
fAroifa dielf iR Sigasif & raxiv @ @2

a)

c)

30.

a)

<)

31.

a)

c)

32.

Which of the following make up the last part of
food chains and they eat non-living plant and
animal remains?

Tt Autotrophs b) 3'cf CIaIR/3TRETER
Detritivores
gfadia JUHIpdl d) IdTGH Producers

Secondary consumers

YRT & Jay A Fafafed § @ $19-31 Fy= o9 2
Which of the following statements is INCORRECT
about current?

YRIY AT & Wiexr 98 b) fdggd 9RT &1 S| AFS
&1 UTA Bt g | Currents TR &1 The SI unit of
follow vector law of electric current is ampere.
addition.

T A% » UM TS d) g8 ™ AR 81 1t is
ey o ﬂTrRﬁ qrell URy, scalar quantity.

Ul ST I 39 &

ToRA ITdl Y 3Ma gl

Current through a given

area of a conductor is the

net charge passing per

unit time through the

area.

HRd & fPa TR R &1 g AT a6w
3o forar T g2

At which airport in India, the country's first reading
lounge has been opened?

e i eREa b) W@ W8lgY NINe

Q!:RC] é 7‘|_5c feet Indira s'EQ?-IQ B[N Q!ZIQCI é

Gandhi International IR Lal  Bahadur

Airport, New Delhi Shastri International
Airport, Varanasi

oAl TIRGK  Patna d) Aol gHY % TERUI,

Airport Netaji Subhash

Chandra Airport, Kolkata

T 1 B 0 _ FARE P ok g ¥ AR
feu T HIs &1 ITANT HIPh L) IR PTG BT :

Bl srafRufe

A SHF i =9

B. 9T (dwa) | ii. G seia
C. a9 iii. g

D 3RS iv. 914

Match List | with List Il and select the correct answer
using the code given below the lists:
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a)
c)

33.

a)
c)

34.

a)
c)

35.

a)

c)

36.

a)

c)

37.

a)
c)

38.

a)

39.

River Located in

A. Danube | 1. Russia

B. Yellow |ii. South Africa

C.Cb iii. Europe

D Crange |iv. China

A(i); B(ii); C(iii); D(iv)
A(iii); B(iv); C(i); Dfii)

b) A(iv); B(iii); C(i); D(ii)
d) A(ii); B(iv); C(i); Dfiii)

fFafafae & @ 9-91 WA yRa & yardfta et &1
TR TS (CTTRITIA RIW) 72
Which of the following places is a harnessing site
for geothermal energy in India?

SIHRI Bokaro b) PIAPIA Kolkata
ARIQR Tarapur d) HfOrR Manikaran
ToRTe! "R aRwR &1 fAfor feam wwamar ar

Who built the Khajuraho temple complex?
Tqd Chandelas b) URHR Paramaras
FEM Chauhans d) Tedldl Gahadavalas

T} IR HEH 95T HETHRR $H-H1 82

Which is the largest ocean on Earth?

Jcdifed TR b) fd HEMFR Indian Ocean

Atlantic Ocean

THeH HERITR Arctic d) URId  HERFR

Ocean Ocean

frrafafad aal § ¥ S19-371 APy FRITPd BT HRT
CEIGIEH

Pacific

Of the following elements, which form a part of
chlorophyll?

AR, qEeoF b) ERA,  GifeaH

Magnesium, Nitrogen Sodium

grefry, FHIRTA d) 3MRA, AH Iron, Nickel

Potassium, Calcium

Taie urfed 7 1SSk fay ®u 2023 # fHam Hex TR
A3 W ol yge Sitar 82

Rudranksh Patil has won gold medal in how many
meters air rifle in ISSF World Cup 2023?

10 HieX 10 m b) 11 HER 11 m
12"/l 12 m d) 13X 13 m

Udar Ag® M ®F__ Seil b1 ufauie® gl
Pelva Naik is an exponent of _____style of singing.
BT Khyal b) PIHI Kafi

FHoaTell Qawwali d) YU Dhrupad

YR ST Ugal SIger IAPR0r STUtid qaear SR®
WA # wuifa fear s

India's first-ever coal gasification based Talcher
Fertiliser plant will be set up in

Iron,

a)

c)

40.

a)

c)

41.

a)

c)

42.

a)

c)

43.

a)

c)

44.

a)
c)

HeRTY Maharashtra b) TfEH ST West Bengal
SIS Odisha d) TSRId Gujarat

W@?W% # Pg, gHET 3R A6 TP ISR &1
|

Kud, Dumhal and Rouf are a type of in
Jammu and Kashmir.
9% Td Folk Song b) I AT Yearly Mela

TER Festivals

a1 3t Fafafaa 9 3 fea afifea d sitwfiea ot

STIRGHT gleil 82

In which of the following reactions of respiration is

oxygen required?

UgEdc 1 3UAA H b) PN B UREdC H

TUIARUT  Conversion  of TUIARUT  Conversion  of

pyruvate to ethanol glucose to pyruvate

msﬁ'c' BT CO, Ho0 3R d) UREde & COH
| TRl TUIARUT  Conversion  of

pyruvate to CO;

d) dI% I Folk Dance

Conver5|on of pyruvate to
COy, H20 and energy

H@THA &1 Bri®Te cakinied

The term of the Chief Minister is

frufa 8 g1 ® not b) 4aﬁ4years
fixed

59N 5 years

200 99 TRTT ATed S TRUGAT HISHHT, 3RTH &

%l’ﬂ'ﬂﬁ Hyd® 9 § U 9R Smaifora fasar sman
|

Baresaharaia Bhaona, a 200 year old drama festival,

is held once every ____years in Jamuguri, Assam.

d) 6 6 years

2 b) 3
4 d) 5
aifg bTegHt PR #, fasiarsi &t 3t

qpg U IR &Y St R

In the Sahitya Akademi Award, the winners are
given a cash amount of

1 @G $TY Rs.1 lakh
3 @RE TYY Rs.3 lakh

b) 2 @RI ¥U Rs.2 lakh
d) 4R IT Rs.4 lakh

fefar areiies 9wl 7
Aditi Ashok is associated with

M golf b) <M tennis
WP squash d) A chess

fFufafea 4 & 59 3w 9 ¢d yrdg frder @i
3uTs 3t U WP fpde Em @1 g @ g
fPar g2

Which of the following country has appointed
former Indian cricketer Monty Desai as the head
coach of its national cricket team?

I I8 West Indies b) U Nepal
G&(UT 3MBIDT South Africa d) =T Kenya
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47. UgE Y Fifd e & A & T H, URA T g1 6
g_ﬁaﬁﬁrﬁﬁﬁﬁw@fqﬁmwmaﬁ
|
As part of the UN Peacekeeping Mission, India has
recently deployed a women-only platoon of
peacekeepers in .

a) 3% Abyei b) Uf3HT A West Bank
c) TSIl Gaza d) GG Kyiv

48. d1-3H UG NUE 2023 F A AbaT GaBiD
W URA &t 38 F1 A2
What was India's rank on the Electoral Democracy
Index of the V-dem Democracy report 2023?
a) 100 b) 108
c) 122 d) 97

49. 3i® fgar us Fow gfEer g =it o gfeaifirar
; TP WR & g Wi gormedt &1 uRurfa st

|
The Code of Points is a rulebook that defines the
scoring system for each level of competition in

a) SRoedd Basketball b) PR WHfET  Figure
skating
c) fomARedd Gymnastics  d) RIS Chess

50. FrafafEa # & o-w 74t foesa & &7 v &
3R B e & AT | TP T8 TP 337 3R o a7
? 3R URd A 3= qul arat & | oIl 37
Which of the following rivers while in Tibet carry a
smaller volume of water and less silt as it is a cold
and a dry area and passes through a region of high
rainfall in India?

a) YY-TYamuna
c) §&lYd Brahmaputra

b) TR Ganga

d) ﬁlﬂ Indus

[ QUANTITATIVE APTITUDE ]

51. GH %% M aTd 9 &1 o1 § 3R KL T Sftar § =i
%mmeuaﬁﬁgNmeg
fe,KMH = 46° 3R 2GML = 98° §, T ZKNH &T HH
(SRIEHEICEIE L
GH is diameter of circle with centre M, and KL is a
chord which intersects the diameter GH inside the
circle at point N. If ZKMH = 46° and 2GML = 98°,
then find the value (in degrees) of ZKNH.

a) 72° b) 78°

c) 66° d) 74°

52. JAFUSARIV[(1 - Sin®0)Cosec’d] BT HIF FIT G
What is the value of expression Vi1 -
Sinze)Cosecze]?

a) Cot® b) Tan®

c) SecB d) Sin®

53.

a)

54.

a)

c)

55.

a)

c)

56.

a)

c)

57.

c)

58.

afe aHHIo Jafgag AYS &1 &TFd 612.5 sq. cm
2, @ 5 SOl B T 2: (@) G 7P)

If the area of right-angled isosceles triangle is 612.5
sq. cm, then the length of its hypotenuse is: (upto
two decimals)
50.24 cm

49.49 cm

b) 48.77 cm
d) 46.33cm

Tfg (4x® + 5nx + 25) TP QUi oFf §, &t 'n’ BT FHA
TR

If (4x* + 5nx + 25) is a perfect square, then what is
the square root of 'n'?

0 b) 2

4 d) 3

'qﬁ' cosecd = 25/24 % ¥ 4tand - 3secB/sin® - 2cosO
T HH [Td PioTa?

Find the value of

4tan® - 3secH 25
———— | if cosecB = i

sinB - 2cosB
75 b) 7
45 d) 12,5

e ° oTa Ha 15 U TUT A R § ST 3
3R A WEeT § "bg $d 10 U FUY F & 9@
Tiear 81 I8 T Piftan e ok 12 & wfa
FUY B G ¥ 9911 Higd B U gi/eny i
fram &2

Sohan purchases some black marbles at the rate of
15 per rupee and the same number of white marbles
at the rate of 10 per rupee. He mixed both and sold
at the rate of 12 marbles per rupee. What is his
loss/profit percent?

4% B 4% loss b) 4% TTH 4% profit
F 1 81 9 @Y Neither d) 8% 81 8% loss
loss nor profit

TP e |
In a trapezium_

Rl Rl 2 g Y by Rl Reamof 2 g )

TR § One pair of  THM TS BI 8 A pair of
opposite sides is parallel opposite sides is of equal
length

B = (1/2) x (FHFIR d) GFia 3R cBothaand ¢
USTieff & A B Q3 ) x

(AR Y137 BT I

Area = (1/2) x (Distance

between parallel sides) x

(Sum of non- parallel

sides)

U S X W, 6.5 981 & 1280 IUY U ATUROT
TS 3R 8 Tul & 1400 FUY WR AIYRY TS & oI
BT 3R 216 TUA B | TS R fpaT 32

At same rate of interest, the difference between
simple interest on Rs.1280 in 6.5 years and simple
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a)
c)

59.

a)
c)

60.

a)
c)

61.

a)

62.

a)
c)

63.

interest on Rs.1400 in 8 years is Rs.216. What is the
rate of interest?

6% b) 8%
7.5% d) 9.5%
& WP =St F N BT AN 130 § 3R & WA

T=3 &1 UFDd 63 8, dl Sl GBns & T4l BT
YR FTd Bifore?

The sum of squares of two natural numbers is 130
and product of two natural numbers is 63, then find
the sum of cubes of the two numbers?

1072 b) 1042
1092 d) SWIgd § ¥ 3 Other
than above

P(-22),Q@45 3MRR@B,2+2V5 FFTHdH
fd=nie 9 AYwr PR, @t TgEH ®¢ & a7 fHa
TR BT Y 37

Identify the type of triangle PQR, having , the three
coordinates as P (-2,2) , Q (4,5) and R(3, 2+2V5).

W@E’I@’ Isosceles by fawm YOl scalene
YA equilateral d) U1 SIS By dug T §

No such triangle possible

frafafad srefa #, ﬁgovﬁ’—ﬁuqﬁm%%am
OA = 12 cm 3R OB = 5 cm 3| BHIifha &F &7
AT (sq. cm ) Fd BIRTTI (N = 22/7 HAfw)
In the following figure, O is the center of concentric
circles, OA = 12 cm, and OB = 5 cm. Find the area
(in sq. cm) of shaded region. (Use N = 22/7)

A

12cm

O 5cm

374 b) 344
396 d) 384

(L + 8) m 3R (L + 12) m aTelt &Y Yanfeal HH: 60
km/hr 3R 48 km/hr B TG | TH-gAX Bl 3R
TR Ui # dis w6 71 afg 3% g
TH-ga B UR B4 | (22/3) AP S BT THT T 2,
@ L BT HH 91 HIfoE|

Two trains (L + 8) m and (L + 12) m in length are
running towards each other on parallel lines at a
speed of 60 km/hr and 48 km/hr respectively. Find
the value of L, if it will take (22/3) sec for them to
cross each other after they meet.

90 b) 120
100 d) 110

e faamea ® faenfiat 9 g e 1400 3, RAA @
35% faendf wsfral € ok qv wsd ¥ afe freht
i adien # 80% wsd 3MX 90% wsfhar Il

a)

c)

64.

a)

65.

a)

c)

66.

a)

c)

gﬁ?,ﬁaa?ﬁﬁﬁﬁaﬁﬁmmﬁmmmm

The total number of students in a school is 1400,
out of which 35% of the students are girls and the
rest are boys. If 80% of the boys and 90% of the
girls passed in an annual examination, then the
percentage of the students who failed is:

16.5 b) 215
17.4 d) 15.8

Following is the pie-chart showing the spendings of a
family on various items In a particular year

Frufafeda urd-ard fafta vel R v ufar & @< &t
Tofar gl

Study the pie chart and answer questions. The
ratio of the total amount spent for food and medicine is :

TS faRy o § 4o 3R ga1 & fore @ &t 1€ o

AR BT U & ?
12:5 b) 11:5
2:1 d) 65

532+ 712 &1 7 ¥ fAuTforg $99 W Avwa F@
Biforg|

Find the remainder when 53'%' + 71'% is divided by
7.

6 b) 4
5 d) 1

TP 1Y A, B 3R € 3 HHI: 26000 TYT, 52000 T4
3R 39000 FUY HT A% FF TH IaER Y= a1
gfe af & 3 A T gRT Sfofa T ATH 72000 FUA
AT 3R T AU HT 3/4 UTT 3 TUH ¥9 A Rurfora
Fd § TUT AT UFT HI U TH & U & SR
faufog o%d € @ ¢ & pa @v &1 R g9
BHiforg|

A, B, and C together started a business by investing
Rs.26000, Rs.52000, and Rs.39000 respectively. If at
the end of the year, the total profit earned by them
was Rs.72000 and 3/4th of the total profit they
divided equally, and rest is divided according to
their profit ratio, then find the total profit share of
C.

24000 ST Rs.24000
20000 ¥TY Rs.20000

b) 30000 FTA Rs.30000
d) 18000 I Rs.18000
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67.

a)
c)

68.

a)
c)

69.

a)
c)

70.

The bar graph given below represents the revenue of a
firm for 8 years. All the revenue figures have been shown
in terms of Rs. crores.

= f&am T SR U 8 9uf & I T BH & IeTed BT
gfafaftre H3ar 81 T Iera 3 Ul & e #
feamm e d I P TuL Bl

7 ~ 400} -
g"' 3501 s20 340

s00 [
8 B 3001 Mae0 280
5 250 250 | | 240
S,E 200}
= 150+

N

E 1004
> 50-»
o oLl LUt L L

2009 2011 2013 2015

Year/d What is

the total value of revenue of the firm (in Rs. crores) in
years 2010, 2011 and 2012?

T 2010, 2011 3R 2012 ¥ BH F ISR T FA T (T |
BRAGT H) FTE?

910 b) 930
950 d) 960
fafafead & O 919 9/4 sy 9 2/8?

I: (1.2)% - (0.7)% - (0.5)° = 1.26

11: V0.0081 + V0.0016 - V0.0036 = ¥0.0049
Which of the following statement(s) is/are TRUE?
I: (1.2)% - (0.7)% - (0.5)° = 1.26

11: V0.0081 + V0.0016 - 10.0036 = +0.0049

%ad | Only | b) %ad Il Only Il

| 3R I EHiBoth land Il d) A I 3R T E Il Neither |
nor Il

The bar graph given below represents the revenue of a

firm for 8 years. All the revenue figures have been shown
in terms of Rs. crores. ﬁ%ﬁmwmw 8 aﬁﬂ?ﬁnz
TH BH & IoRa F1 gl s3ar g1 @t e
Iips T & deH # f@me MU §1 FS I B

)
»
8

350
= 320 40
] 280

250 240

W

X-RR-R-R-RX-

| 300
260

o

_— N W

o

Revenue (In Rs. crores)
T (g U o

Ll Ll Ly Ld ]
2009 2011 2013 2015

Year/ad By
what percentage has the revenue of the firm decreased in

2010 with respect to the last year ? o af & Jay &
2010 H BH & Iog A fpa ufa=ra 1 & o 82

15.38 b) 14.44
11.11 d) 1333

TP WP & AMPR B <t #) foded Farg 20 m iR
YR Pt BT 9 m 81 3.15 Ufd sq. m P R A 39

a)

c)

71.

a)
c)

72.

a)

c)

73.

a)

c)

74.

a)

c)

75.

a)

c)

9% U8 &F%d @I U &4 B $d AN ¥4
PRI [ = 3.14 Ao

A cone shaped cap has slant height of 20 m and
radius of base is 9 m. Find the total cost for painting
its curved surface area at the rate of Rs.15 per sq. m.
[use r = 3.14]

%.8478 Rs.8478
%.8224 Rs.8224

Tfe 30 cm TS I TP TH YCHIVIG MR firsw
FT A”GT 11520V3 cm* 3, o s & wesfig
STYR P YoIT B darg fra-t 82

If the volume of a regular hexagonal base prism
which has height of 30 cm is 11520V3 cm’, then
what is the side of the hexagonal base of the
prism?

b) %.8848 Rs.8848
d) %.8698 Rs.8698

16 cm
20 cm

b) 18 cm
d) 12cm

'qﬁ' (3x + yz)(x2 + 3), (ax3 + bxzy2 + Ccx + dyz) *
WIS &, ¥V (abed) BT AT fra=T 82

If 3x + y*)(x* + 3) is equivalent to (ax’® + bx’y* + cx
+ dy?), then what is the value of V(abcd)

11 b) 9

13 d 7

TP PR 150 &1 # TP HSP 9911 &1 o 1Y A
T 8 3R 237 cfaaal & fAged owar 21 60 e &
915, 39 a1 Il § [ ws® &1 Faa 2/7 ai g
T T 31 39 fean eifafved gl &t fAge
P A1 Fora {5 98 999 IR ST TRT X Ja?

A contractor undertakes to make a road in 150 days
and employs 237 men. After 60 days, he finds that
only 2/7th of the road is made. How many extra
men should he employ so that he is able to
complete the work on time?

172 fad 172 men b) 168 Hfad 168 men
162 fad 162 men d) 158 AfGT 158 men

19 800 & &9 Ft H&SHT BT AT 9 A fayT=a |1 22

What is the sum of the numbers between 1 to 800

divisible by 9?
35240 b) 30204
35244 d) 36248
n2+—=83 N°- %
o g " 3 &1 A F19 FRE
2 3]

n‘ +—=283 -
If n then find the value of n
757 b) 756
755 dy 747

[ ENGLISH ]

Mob. - 01141676717,9312712114

Page 9




SCHOLARS ACADEMY

76.

c)

717.

a)

c)

78.

a)
c)

79.

a)

c)

80.

a)
c)

81.

a)
c)

Select the most appropriate ANTONYM of the given
word.

Industrious
Diligent b) Assiduous
Important d) Inactive

Select the option that expresses the given sentence
in reported speech.

He said to her, "I have been thinking about the
matter”.

He told her that he has b) He told her that he have
been thinking about the been thinking about the
matter. matter.

He told her that he had d) He told her that | had
been thinking about the been thinking about the
matter. matter.

Select the option that can be used as a one-word
substitute for the underlined group of words.

The water in this tank is safe to drink.

Potable b) Nascent

Crusade d) Pedantic

Select the most appropriate meaning of the given
idiom.
Stir up a hornet's nest

be bitterly hostile towards b) To weep profusely or

each other excessively in the
presence  of another
person

To create, provoke, or d) A person who

trigger a  dangerous, discourages enjoyment or

troublesome, or enthusiasm

complicated situation

(80 - 84)Directions [Set of 5 Questions]: In the
following passage, some words have been deleted.
Read the passage carefully and select the most
appropriate option to fill in each blank.

Easter is one of ____ (A) principal holidays, or feasts,
of Christianity. It marks the resurrection (B)
Jesus Christ. For (C) Christian churches,
Easter is the joyful end to the season of fasting and
penitence. The earliest recorded observance of
Easter (D) from the 2nd century, though it is
likely that even the earliest Christians ____ (E) the
Resurrection, which is an integral tenet of the faith.
Which of the following words can replace the blank
marked as (A) in the passage?

a b) an
the d) more

Which of the following words can replace the blank
marked as (B) in the passage?
of b) off

over d) on

82.

c)

83.

a)

c)

84.

a)

c)

85.

a)

c)

86.

a)
c)

87.

a)

c)

88.

a)
c)

89.

Which of the following words can replace the blank
marked as (C) in the passage?

b) much
any d) more

many

Which of the following words can replace the blank

marked as (D) in the passage?
ranges b) comes

ensure d) come

Which of the following words can replace the blank
marked as (E) in the passage?

Common b) Memorize

Commemorated d) Scolds

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

Even though she / spoke to me rudely, / but | will
be / polite to her.
Even though she
but I will be

b) spoke to me rudely
d) polite to her

The following sentence has been split into four
segments. ldentify the segment that contains a
grammatical error.
Unless you are / not very careful, / you will run /
into indebtedness.

Unless you are b) not very careful

you will run d) into indebtedness

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select ‘No improvement required'.

The summons by the court has to be answered by
the plaintiff.

summon by the court b)
have

summons by the court
have
summon by the court has d) No
required

improvement

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.
Electric vehicles will no longer just remain vehicles
but become energy storing on wheels.

store of energy by wheels b) stored energy at wheels
d) No

required

energy storage on wheels improvement

The following sentence has been split into three
segments. Identify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

She no sooner completed / one project before she
invested / the profits in the next.
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a)

c)

90.

a)

c)

91.

a)
c)

92.
a)
c)

93.
a)
c)

94.

c)

95.

a)

96.

a)
c)

She no sooner completed b) one project before she
invested

the profits in the next d) No error

Select the option that expresses the given sentence
in passive voice.
I love the new hairstyle of Cristiano Ronaldo.

Cristiano Ronaldo's new b) The new hairstyle of

hairstyle was loved by Cristiano  Ronaldo is
me. being loved by me.

The new hairstyle of d) The new hairstyle of
Cristiano Ronaldo is loved Cristiano Ronaldo was
by me. loved by me.

Select the most appropriate meaning of the
boldened/underlined idiom.

The woman's beauty made her a rare bird indeed.

A Beautiful bird

A Humble individual

b) A Proud person
d) An exceptional individual

Select the INCORRECTLY spelt word.
existance b) supersede

whether d) ignorance

Select the INCORRECTLY spelt word.
b) Dishonest
d) Doing

Plain
Beleves

Select the option that expresses the given sentence
in active voice.

My lunch has been eaten.
My lunch had been eaten. b) Somebody ate my lunch.

Somebody had eaten my d) Somebody has eaten my
lunch. lunch.

Select the most appropriate ANTONYM of the given
word.

Dense
Opaque b) Sparse
Lame d) Abiding

Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the correct
order to form a meaningful and coherent
paragraph.

A. He concluded that it was possible that | had a
virus of some sort.

B. He also mentioned that the others would take
longer.

C. He said that the results that had come back were
normal.

D. For many hours, | sat there until a junior doctor
appeared to tell me how things stood.

ACBD b) DCAB
DCBA d) DBAC

97.

a)

c)

98.

a)

c)

99.

a)

c)

100.

a)
c)

Select the most appropriate synonym of the given
word.

Bucolic
Rural b) Urban
Popular d) Difficult

Select the option that can be used as a one-word
substitute for the given group of words.

Exceptionally clever or talented
Indigenous b) Ingenious

Studious d) Assiduous

Select the most appropriate option to fill in the
blank.
bound to swear absolute loyalty to the

King.

Each of Alexander's b) Each  of  Alexander's
soldiers was soldiers were

Each of d) Every of Alexander's

Alexander'ssoldier was soldiers were

Select the most appropriate synonym of the given
word.

Appraise
Inform b) Neglect
Assess d) Access
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